
XD-113 1 P.T.O.  

Seat No. :  _______________ 
  

XD-113 
T.Y.B.A. 

March-2013 
Economics  : Paper-X (Optional) 

(Managerial Economics) 
 

Time :  3 Hours]  [Max. Marks : 70 
 

ÍÛæ̃ Û¶ÛÛ : (1) þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 
  (2) ¸ÛóÊ¶Û¸ÛªÛ¾ÛÛ× …Û¸ÛéÅÛ ¸ÛóÊ¶Û¶ÛÛé …Û×ïõ ›÷ Š«ÛÁõÈÛÐüà¾ÛÛ× ÅÛ”ÛÛé.  
 

1. ÍÛ×˜ÛÛÅÛïõàýÛ …¬ÛÙÉÛÛÍªÛ …é¤øÅÛé ÉÛä× ? ÍÛ×˜ÛÛÅÛ¶Û¾ÛÛ× …¬ÛÙÉÛÛÍªÛà ÉÛÛé ½ÛÛ•Û (Role) ½Û›÷ÈÛé ™öé ©Ûé ÍÛ¾Û›ÛÈÛÛé.  14 
    …¬ÛÈÛÛ  
 ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 
 (1) ÍÛ×˜ÛÛÅÛïõàýÛ …¬ÛÙÉÛÛÍªÛ¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé  
 (2) Ü¶Û¨ÛÙýÛàïõÁõ¨Û¶Ûà ¸ÛóÜ’õýÛÛ  
 (3) ÍÛ×˜ÛÛÅÛïõàýÛ …¬ÛÙÉÛÛÍªÛ¶ÛÛé …Û×ïõ¦øÛÉÛÛÍªÛ …¶Ûé ¶ÛÛ¾ÛÛ¸Û±ùÜ©Û ÍÛÛ¬Ûé¶ÛÛé ÍÛ×¼Û×µÛ.  
 

2. ¾ÛÛ×•Û¶Ûà …Û•ÛÛÐüà …é¤øÅÛé ÉÛä× ? ¾ÛÛ×•Û¶Ûà …Û•ÛÛÐüà¶Ûà   14 
 (1) •ÛóÛÐüïõ¶ÛÛ ˆÁõÛþùÛ¶Ûà ¾ÛÛé›÷¨Ûà¶Ûà Áõà©Û …¶Ûé  
 (2) Ü¶ÛÌ¨ÛÛ©ÛÛé¶ÛÛ …Ü½Û¸ÛóÛýÛÛé¶Ûà ¾ÛÛé›÷¨Ûà¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé.  
    …¬ÛÈÛÛ  
 (…) ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ …¶Ûé ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ ÍÛ¾Û›ÛÈÛÛé.  
 (¼Û) ¶ÛÛ¨ÛÛïõàýÛ ”Û˜ÛÙ …¶Ûé ÈÛíéïõÜÅ¸Ûïõ ”Û˜ÛÙ ÍÛ¾Û›ÛÈÛÛé.  
 
3. ”Û˜ÛÙ ÈÛ«ÛÛ¶Ûà Ýïõ¾Û©Û ¶ÛàÜ©Û ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé.  14 
    …¬ÛÈÛÛ  
 ‘ÍÛ¾Û©Ûæ¤ø ÜÈÛÊÅÛéÌÛ¨Û’ …ÛïèõÜ©Û …¶Ûé ŠþùÛÐüÁõ¨Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé. ©Ûé¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ïõˆ ™öé ? 
 
4. ‘…ÛµÛäÜ¶Ûïõ ¸Ûé§øà…Ûé¶ÛÛé Š°éùÉÛ ¾ÛÐü«Û¾Û ¶ÛºõÛ¶ÛÛé ÁõÔÛé ¶Û¬Ûà.’ – ÍÛ¾Û›ÛÈÛÛé.  14 
    …¬ÛÈÛÛ  
 ¾Ûæ¦øà ¼Û›÷é¤ø¶Ûà ÜÈÛÜÈÛµÛ ¸Û±ùÜ©Û…Ûé ŠþùÛÐüÁõ¨Û …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé.  
 

5. ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé)  14 
 (1) ›ÛÐéüÁõÛ©Û …×þùÛ›÷¸ÛªÛ  
 (2) ÈÛéˆ¤øá•Û ÅÛÛˆ¶Û¶Ûà ÍÛ¾ÛÍýÛÛ  
 (3) ˆ¶ÈÛé¶¤øÁõà ÍÛ×˜ÛÛÅÛ¶Û¶Ûà ABC ¸Û±ùÜ©Û  
 (4) ÈÛÍ©Ûä¶ÛÛ œ÷ÈÛ¶ÛïõÛÇ¶Ûä× ˜Û’õ  
 (5) …Ûé¸ÛÁéõÉÛ¶ÍÛ ÁõàÍÛ˜ÛÙ 

________ 
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XD-113 
T.Y.B.A. 
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Economics  : Paper-X (Optional) 

(Managerial Economics) 
 

Time :  3 Hours]  [Max. Marks : 70 
 

Instructions :  (1) All questions carry equal marks.  
   (2) Write number of the answers as in the question paper. 
 
1. What is Managerial Economics ? Explain the role of economist in management. 14 
                OR 
 Write notes on any two of the following : 
 (1) Salient features of managerial economics. 
 (2) Decision making process. 
 (3) Relationship between of statistics managerial economics and accountancy.  
 
2. What is meaning of Demand Forecasting ? Explain the following methods : 14 
 (1) Consumer Survey Method 
 (2) Expert’s opinions’ survey method  
                         OR 
 (a) Explain the relationship between Average Cost and Marginal Cost.  
 (b) Explain : Monetary Cost and Opportunity Cost. 
 
3. Explain the cost-plus pricing policy with illustration. 14 
                    OR 
 Explain break-even analysis with the help of illustration and diagram. What are its 

limitations ?  
 
4. ‘The goal of modern business firm is not profit maximisation’. – Discuss. 14 
                         OR 
 Describe various methods of capital budgeting with illustrations. 
 
5. Write short notes on : (any two)  14 
 (1) Advertisement budget 
 (2) Waiting line problem 
 (3) ABC method of inventory control 
 (4) Life cycle of a product 
 (5) Operations Research  

________ 
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XD-113 
T.Y.B.A. 
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Economics : Paper-X 

(Theories of Co-operation) 
 

Time :  3 Hours]  [Max. Marks : 70 
 

ÍÛæ̃ Û¶ÛÛ : (1) ¶Ûà˜Ûé¶ÛÛ ¸ÛÛ×̃ Û ¸ÛóÊ¶ÛÛé ÅÛ”ÛÛé.  
  (2) þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 
 

1. ÍÛÐüïõÛÁõ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé …¶Ûé ÍÛÐüïõÛÁõà ¸ÛóÈÛèÜ«Û¶ÛÛ× ŠþÕù½ÛÈÛ …¶Ûé ÜÈÛïõÛÍÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.   14 
    …¬ÛÈÛÛ  
 (…) ÍÛÐüïõÛÁõ¶Ûà ÜºõÅÛÍÛæºõà ˜Û˜ÛÛë.  
 (¼Û) ÍÛÐüïõÛÁõ¶Ûà ÍÛºõÇ©ÛÛ¶Ûà ÉÛÁõ©ÛÛé ›÷¨ÛÛÈÛÛé.  
 

2. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ªÛ¨Û ÅÛ”ÛÛé :  14 
 (1) ÍÈÛíéÜ˜™öïõ …¶Ûé ”ÛäÅÅÛä ÍÛ½ýÛ¸Ûþù 
 (2) ÍÛ½ýÛÛé ¸ÛÁõ ÅÛÛéïõÉÛÛÐüà …×ïäõÉÛ  
 (3) ÍÛ½ýÛÛé¶Ûà …ÛÜ¬ÛÙïõ ½ÛÛ•ÛàþùÛÁõà  
 (4) ÍÈÛÛýÛ«Û©ÛÛ …¶Ûé ÍÈÛ©Û×ªÛ©ÛÛ  
 (5) ÍÛ¾ÛÛ›÷ ¸Ûó©ýÛé ›÷ÈÛÛ¼ÛþùÛÁõà  
                    …¬ÛÈÛÛ 
 ÍÛÐüïõÛÁõ …¶Ûé ¾Ûæ¦øàÈÛÛþù ÈÛ˜˜Ûé¶ÛÛ ÍÛÛ¾ýÛ©ÛÛ …¶Ûé ©ÛºõÛÈÛ©Û¶ÛÛ ¾Û°ùÛ…Ûé ˜Û˜ÛÛë. 
 

3. ¸ÛóÛ¬ÛÜ¾Ûïõ ÍÛÐüïõÛÁõà ”Ûé©Ûà ÜÈÛÌÛýÛïõ ÜµÛÁõÛ¨Û ¾Û×¦øÇà…Ûé¶Ûà Áõ˜Û¶ÛÛ …¶Ûé ïõÛýÛÛë ›÷¨ÛÛÈÛÛé.  14 
    …¬ÛÈÛÛ  
 ›÷¾Ûà¶Û ÜÈÛïõÛÍÛ ¼Ûé¶ïõÛé¶Ûà ïõÛ¾Û•ÛàÁõà …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  
 

4. ÍÛÐüïõÛÁõà ¸ÛóÈÛèÜ«Û¶Ûà ÜÍÛÜ±ù…Ûé …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ˜Û˜ÛÛë.  14 
    …¬ÛÈÛÛ  
 ½ÛÛÁõ©Û¾ÛÛ× •ÛóÛÐüïõ ½Û×¦øÛÁõÛé¶ÛÛ Ðéü©Ûä…Ûé, ïõÛýÛÛë …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ÍÛ¾Û›ÛÈÛÛé.  
 

5. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé : 14 
 (1) ÍÛÐüïõÛÁõà ÜÉÛ“Û¨Û …¶Ûé ©ÛÛÅÛà¾Û  
 (2) ÍÛÐüïõÛÁõà©ÛÛ …¶Ûé ÁõÛšýÛ  
 (3) •ÛèÐü Ü¶Û¾ÛÛÙ¨Û ¾Û×¦øÇà…Ûé  
 (4) þæùµÛ Š©¸ÛÛþùïõÛé¶Ûà ¾Û×¦øÇà…Ûé  

________ 
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Instructions :  (1) Attempt all questions. 

   (2) All questions carry equal marks. 

 
1. Explain the meaning of Co-operation and discuss the origin and development of it. 14 
                         OR 
 (a) Discuss the philosophy of Co-operation. 
 (b) Give the conditions of success of Co-operation. 
 
2. Attempt any three from the following : 14 
 (1) Voluntary and open membership 
 (2) Democratic control over members 
 (3) Economical partnership of members 
 (4) Autonomy and independence 
 (5) Responsibility towards society 
                   OR 
 Discuss similarity and differences between Co-operation and Capitalism.  
 
3. Give detail on primary Co-operative agriculture credit societies organization and 

functions.    14 
OR 

 Write in detail on Land development Bank’s working and limitations. 
 
4. Discuss achievements and limitations of Co-operative movements. 14 

OR 
 Examine Aims, Functions and Limitations of Consumer Co-operative Stores. 
 
5. Attempt any (two) :  14 
 (1) Co-operative Education and Training 
 (2) State and Co-operation 
 (3) Co-operative housing societies 
 (4) Milk producers Co-operative Societies  

________ 
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1. …¬ÛÙÉÛÛÍªÛ¾ÛÛ× ÈÛ¸ÛÁõÛ©ÛÛ ¾Ûä”ýÛ ÜÈÛµÛéýÛÛé ÈÛ˜˜Ûé¶ÛÛ ÍÛ×¼Û×µÛÛé ©Ûé¾Û¶Ûà …ÛïèõÜ©Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 14 
      …¬ÛÈÛÛ 
 Ü¶ÛÊ˜ÛÛýÛïõÛé …é¤øÅÛé ÉÛä× ? ©Ûé¾Û¶Ûé ÅÛÛ•Ûä ¸Û¦ø©ÛÛ ¾Ûä”ýÛ Ü¶ÛýÛ¾ÛÛé ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 

 
2. (…) ¶Ûà˜Ûé¶ÛÛ ÍÛ¾ÛàïõÁõ¨ÛÛé¶ÛÛé ŠïéõÅÛ ÈýÛÍ©Û ËÛéÜ¨Ûïõ ÈÛ¦éø ¾ÛéÇÈÛÛé : 10 
  5x – 6y + 4z = 15 
  7x + 4y – 3z = 19 
  2x + y + 6z = 46 

 (¼Û) ¾ÛÛ×•Û ÜÈÛµÛéýÛ x = 25 – 3p – p2 ÐüÛéýÛ ©ÛÛé ` 3 ¶Ûà Ýïõ¾Û©Ûé ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û©ÛÛ ÉÛÛéµÛÛé. 4 
…¬ÛÈÛÛ 

 (…) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶Ûà ¾Ûþùþù¬Ûà ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶Û¶ÛÛé ŠïéõÅÛ ¾ÛéÇÈÛÛé : (…ÛïèõÜ©Û ÈÛÛÇà ¸Û±ùÜ©Û ÈÛ¦éø) 10 
  …éïõ Š©¸ÛÛþùïõ A ¸ÛóïõÛÁõ …¶Ûé B ¸ÛóïõÛÁõ¶Ûà ¼Ûé ÈÛÍ©Ûä…Ûé¶Ûä× Š©¸ÛÛþù¶Û ïõÁéõ ™öé. ¼Û›ÛÁõ¾ÛÛ× A ÈÛÍ©Ûä ` 2 ¶ÛÛ 

¶ÛºõÛ…é …¶Ûé B ÈÛÍ©Ûä ` 3 ¶ÛÛ ¶ÛºõÛ…é ÈÛé˜Ûé ™öé. ¼Û¶¶Ûé ¸ÛóïõÛÁõ¶Ûà ÈÛÍ©Ûä…Ûé ¼Ûé ¸ÛóïõÛÁõ¶ÛÛ ¾ÛÉÛà¶ÛÛé ›÷é¾Ûïéõ 
G …¶Ûé H ÈÛ¦éø Š©¸Û¶¶Û ¬ÛÛýÛ ™öé. ÈÛÍ©Ûä A ¼Û¶ÛÛÈÛÈÛÛ G ¾ÛÉÛà¶Û ¸ÛÁõ …éïõ Ü¾ÛÜ¶Û¤ø …¶Ûé H ¾ÛÉÛà¶Û ¸ÛÁõ 
¼Ûé Ü¾ÛÜ¶Û¤ø ¸ÛÍÛÛÁõ ïõÁõÈÛà ¸Û¦éø ™öé. ÈÛÍ©Ûä B ¼Û¶ÛÛÈÛÈÛÛ ¾ÛÛ¤éø G ¾ÛÉÛà¶Û ¸ÛÁõ …éïõ Ü¾ÛÜ¶Û¤ø …¶Ûé H 
¾ÛÉÛà¶Û ¸ÛÁõ ¸Û¨Û …éïõ Ü¾ÛÜ¶Û¤ø ¸ÛÍÛÛÁõ ïõÁõÛýÛ ™öé. 

  …éïõ ÜþùÈÛÍÛ þùÁõ¾ýÛÛ¶Û ¾ÛÉÛà¶Û G, 5 ïõÅÛÛïõ …¶Ûé 40 Ü¾ÛÜ¶Û¤ø ¾ÛÛ¤éø ˜ÛÅÛÛÈÛà ÉÛïõÛýÛ …¶Ûé ¾ÛÉÛà¶Û H, 
10 ïõÅÛÛïõ ¾ÛÛ¤éø ÈÛÛ¸ÛÁõà ÉÛïõÛýÛ. …éïõ ÍÛÁõÅÛ ÁíéõÜ”Ûïõ ¸ÛóÛé•ÛóÛÝ¾Û•Û ÍÛ¾ÛÍýÛÛ¶ÛÛ Äõ¸Ûé Ü¶ÛÄõ¸Û¨Û ïõÁõÛé …¶Ûé 
…Û ÍÛ×›Ûé•ÛÛé¾ÛÛ× Š©¸ÛÛþùïõ ¾ÛÐü«Û¾Û ¶ÛºõÛé ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø A …¶Ûé B ÈÛÍ©Ûä…Ûé¶Ûä× ïéõ¤øÅÛä× Š©¸ÛÛþù¶Û ïõÁõÉÛé ? 

 (¼Û) ¶Ûà˜Ûé¶Ûà ÈÛÛÐü¶Û ÈýÛÈÛÐüÛÁõ ÍÛ¾ÛÍýÛÛ¶ÛÛé ŠïéõÅÛ ¶ÛÛé¬ÛÙ-ÈÛéÍ¤ø Ü¶ÛýÛ¾Û ÈÛ¦éø ¾ÛéÇÈÛÛé …¶Ûé …Û Ü¶ÛýÛ¾Û¶Ûà Áõà©Û 
ÈÛ¨ÛÙÈÛÛé (ÈÛÛýÛÈýÛ ”Ûæ¨ÛÛ¶Ûà Áõà©Û) : 4 

 I II III IV 
¸ÛóÛ¸ýÛ 
¸ÛäÁõÈÛ¥øÛé 

A 09 16 18 17 250 
B 11 18 14 10 300 
C 07 18 07 19 400 

¾ÛÛ×•Û 200 225 275 250  
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3. …¬ÛÙÜ¾ÛÜ©ÛÉÛÛÍªÛ¶ÛÛé …¬ÛÙ, ÜÈÛÌÛýÛ¶Ûà ©ÛïõÛé, ïõÛýÛÙ“ÛéªÛ, Š°éùÉýÛ, ©Ûé¶Ûà ÍÛ×ÉÛÛéµÛ¶Û ¸Û±ùÜ©Û…Ûé ¸ÛÁõ ÍÛÜÈÛÍ©ÛÛÁõ ¶ÛÛêµÛ 
ÅÛ”ÛÛé.     14 

     …¬ÛÈÛÛ 
 Ý¼Ûþäù …Û•Û¨Û¶Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”Ûà …ÛþùÉÛÙ Ý¼Ûþäù …Û•Û¨Ûïõ¶ÛÛ× ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 

 
4. ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ ¸Û±ùÜ©Û ³ùÛÁõÛ ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ Áéõ”ÛÛ ¾ÛéÇÈÛÛé šýÛÛ× ¾ÛÛ×•Û ©Ûé Ýïõ¾Û©Û ¸ÛÁõ 

…ÛµÛÛÁõ ÁõÛ”Ûé ™öé. šýÛÛ× D, P¶Ûä× …éïõ ºõÅÛ¶Û ™öé. Áéõ”ÛÛ D = α +βPi + ui ¾ÛéÇÈÛà α …¶Ûé β ¾ÛÛ¤éø ÜÈÛ˜ÛÁõ¨Û, 
¸Ûó¾ÛÛÜ¨Û©Û þùÛéÌÛ ÉÛÛéµÛÛé ©Û¬ÛÛ r2 ÉÛÛéµÛÛé :  14 

Ýïõ¾Û©Û 20 25 26 29 30 35 
¾ÛÛ×•Û 100 90 86 75 65 63 

…¬ÛÈÛÛ 
 (…) ÍÛÛ¼Ûä ¼Û¶ÛÛÈÛ©Ûà …éïõ ï×õ¸Û¶Ûà ©Ûé¾Û¶ÛÛ ÍÛÛ¼Ûä…Ûé ™æö¤øïõ þäùïõÛ¶ÛÛé¾ÛÛ× ÈÛé˜Û©Ûà Ðü©Ûà. ›×÷•Ûà ¸Ûó˜ÛÛÁõ ¸ÛÐéüÅÛÛ 

þäùïõÛ¶Û þùà¥ø þùÁõ …¥øÈÛÛÜ¦øýÛÛ¶Ûä× ÈÛé˜ÛÛ¨Û 190 ¦ø¡ö¶Û Ðü©Ûä×. ÍÛÛ¼Ûä¶ÛÛ ¸Ûó˜ÛÛÁõ ¸Û™öà 26 þäùïõÛ¶ÛÛé¶ÛÛ …éïõ 
Ü¶ÛþùÉÛÙ¶Ûä× ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ 200 ¦ø¡ö¶Û ›ÛéÈÛÛ ¾ÛÆýÛä× …¶Ûé ©Ûé¶Ûä× ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û 16 Ðü©Ûä×. 5%¶Ûà 
ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ¾ÛÛªÛÛ…é ÉÛÛéµÛÛé ïéõ ÈÛé˜ÛÛ¨Û ¸ÛÁõ ¸Ûó˜ÛÛÁõ¶Ûà …ÍÛÁõ ¬Ûˆ ïéõ ¶ÛÜÐü ? 4 

 (¼Û) …éïõ ï×õ¸Û¶Ûà¶ÛÛ ¤øÛýÛÁõÛé¶Ûä× …ÛýÛäÌýÛ ¸Ûó¾ÛÛ¨ýÛ ÜÈÛ©ÛÁõ¨Û µÛÁõÛÈÛé ™öé. ÍÛÁéõÁõÛÉÛ …ÛýÛäÌýÛ 40,000 Üïõ¾Ûà¶Ûä× ™öé 
…¶Ûé ©Ûé¾Û¶Ûä× ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û 3,000 Üïõ¾Ûà¶Ûä× ™öé. Š©¸ÛÛþù¶Û ¸Û±ùÜ©Û ¼ÛþùÅÛÈÛÛ¬Ûà ÈÛµÛä ÍÛÛÁõÛ ¤øÛýÛÁõÛé 
Š©¸Û¶¶Û ¬ÛÈÛÛ¶Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ ™öé. Š©¸ÛÛþù¶Û ¸Û±ùÜ©Û ¼ÛþùÅÛÛýÛÛ ¸Û™öà 64 ¤øÛýÛÁõÛé¶ÛÛ …éïõ Ü¶ÛþùÉÛÙ¶Ûä× 
ÍÛÁéõÁõÛÉÛ …ÛýÛäÌýÛ 41,200 Üïõ¾Ûà ™öé. 95%¶Ûà ÜÈÛÉÈÛÛÍÛ¶Ûà ¾ÛÛªÛÛ…é ›÷¨ÛÛÈÛÛé ïéõ Š©¸ÛÛþù¶Û ¸Û±ùÜ©Û 
¼ÛþùÅÛÈÛÛ¬Ûà ¤øÛýÛÁõ¶Ûä× …ÛýÛäÌýÛ¾ÛÛ× ïõÛéˆÍÛÛ¬ÛÙïõ ¸ÛÜÁõÈÛ©ÛÙ¶Û ¬ÛýÛä× ¶Û¬Ûà ? 4 

 (ïõ) ïõÛýÛÍîÈÛéÁõ ÜÈÛ©ÛÁõ¨Û¶Ûä× ÍÈÛ©Û×ªÛ©ÛÛ¶Ûä× ¸ÛÁõà“Û¨Û 5%¶ÛÛ ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ¾ÛÛªÛÛ…é ÈÛÛ¸ÛÁõà¶Ûé ›÷¨ÛÛÈÛÛé ïéõ 
ïõÛñÅÛéÁõÛ¶ÛÛ ÁõÍÛàïõÁõ¨Û¶Ûà …ÍÛÁõ ïõÛñÅÛéÁõÛ¶ÛÛ ºéõÅÛÛÈÛ ¸ÛÁõ ¬ÛÛýÛ ™öé ïéõ ¶ÛÜÐü. (¤éø¼ÛÅÛ¾ÛÛ× ¾ÛÛ¨ÛÍÛÛé¶Ûà ÍÛ×”ýÛÛ 
þùÉÛÛÙÈÛéÅÛ ™öé.)   6 

 ïõÛñÅÛéÁõÛ ¬ÛýÛÛé ïõÛñÅÛéÁõÛ ¶ÛÛ ¬ÛýÛÛé 
ÁõÍÛàïõÁõ¨Û ¬ÛýÛä× ÐüÛéýÛ ©ÛéÈÛÛ 20 300 
ÁõÍÛàïõÁõ¨Û ¶ÛÛ ¬ÛýÛä× ÐüÛéýÛ ©ÛéÈÛÛ 80 600 

 

5. •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé :   14 
 (…) Ü¾ÛËÛ ÈýÛæÐü, œ÷¶Û Ý¼Ûþäù (¸ÛÅÛÛ¨ýÛ Ý¼Ûþäù), ÉÛæ¶ýÛ ÍÛÁõÈÛÛÇÛ Áõ¾Û©Û. 
 (¼Û) …ÈÛïõÅÛ›÷¶ÛÛ Ü¶ÛýÛ¾ÛÛé 
 (ïõ) ÍÛ¾ÛÛïõÅÛ¶Û 
 (¦ø) ’éõ¾ÛÁõ¶ÛÛ Ü¶ÛýÛ¾Û ÈÛ¦éø ¶Ûà˜Ûé¶ÛÛ ÍÛ¾ÛàïõÁõ¨ÛÛé¶ÛÛé ŠïéõÅÛ ¾ÛéÇÈÛÛé : 
  2x + 5y = 16 
  3x + y = 11 

___________ 
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1. Give some important functional relationships in economics with their graphs. 14 

      OR 

 What are Determinants ? Give their important rules with examples. 

 
2. (a) Solve the following by way of matrix inversion. 10 

  5x – 6y + 4z = 15 

  7x + 4y – 3z = 19 

  2x + y + 6z = 46 

 (b) Let x = 25 – 3p – p2 be a demand function, then find the price elasticity of demand 
at p = ` 3.   4 

OR 

 (a) Find the answer of the following questions with the help of graphical              
presentation :  10 

  A firm manufactures two types of products A and B and sells them at a profit of              
` 2.00 on type A and ` 3 on type B. Each product is processed on two machines G 
and H. Product A requires one minute of processing time on G and two minutes of 
processing time on H. Product type B requireds one minute of processing time on 
machine G and one minute of processing time on H. 

  Machine G is available for 5 hours and 40 minutes and machine H is available for 
10 hours during any working day. Formulate this as a linear programming problem 
and find out the amount of products A & B that the manufacturer must produce to 
maximize his profit. 
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 (b) Solve the following transportation problem by using the North-West corner rule 
and mention the steps you undertake : 14 

 I II III IV Available 
A 09 16 18 17 250 
B 11 18 14 10 300 
C 07 18 07 19 400 

Requirement 200 225 275 250  
 

3. Give the meaning opportunity, scope, goals of econometrics and state the methodology 
of econometric research.  14 

     OR 
 Write a note on point estimators and give the desirable properties of point estimators. 
 
4. Estimate the line of regression D = α +βPi + ui with the help of OLS method for the 

following Price-Demand relationship where D is a function of P. Also find out the 
variance and standard errors of the parameter and r2. 14 
Price 20 25 26 29 30 35 
Demand 100 90 86 75 65 63 

OR 
 (a) A soap manufacturing company was distributing a particular brand of soap through 

a large number of retail shops. Before an advertisement campaign, the mean sales 
per week per shop was 190 dozens. After the campaign, a sample of 26 shops was 
taken and the mean sales was found to be 200 dozens with standard deviation of 
16. Can this advertisement be considered effective ? (Significance level 5%) 4 

 (b) The lives of tyres manufactured by a company are normally distributed with a 
mean of 40,000 kms and a Standard Deviation of 3,000 kms. A change in the 
production process is believed to result in a better product. A test sample of 64 
tyres has a mean life of 41,200 kms. Can you conclude at 95% confidence level 
that there is no significant difference between the new product and the old one ? 4 

 (c) Use the chi-square test of independence to test the effectiveness of inoculation 
against cholera at 5% level of significance (figures in the table represent the 
number of persons)  6 
 Attacked Not attacked 
Inoculated 20 300 
Not-inoculated  80 600 

 

5. Attempt any two of the following : 14 
 (a) Mixed strategy, Saddle Point, Zero-Sum Game. 
 (b) Rules of derivatives 
 (c) Integration  
 (d) Find values of x and y using Cramer’s Rule. 
  2x + 5y = 16 
  3x + y = 11 

___________ 
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